| Efficiency vs Dxy |
0.5
<

S : : : : : : : : :
LA

> : : : : : : : : :
o EARAARREEREFACEEERE: SRR EERERRE R TR TTESERTEEE e (REEREE
C0'4 : : : : : : : : :

1) 1s] R EEE VRN NG SO ST S St et
5 F #
V] RS S SR S A
0252— ------------------------------------------------------------------------
0.22_ ........................................................................
L] F T Tt SO St
Ot SUCoT TN SE SUEN RSO S
0J(L:] S ARERN FERNE SOES SEN | RSOSSN e

OJ-'\-Q IIII;IIII;IIII;IIII;III illlI;IIII;IIII;IIII;IIII

09 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R0O00000001__Global__cmsswQCD__RECO
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO

—«— DQM_V0001_R000000001__Global _mkFitNewQCD__RECO

z
o
©

o
\‘

o
o))

....................................................................

efficiency vs d

o
(&)

o
[

........................

o

~
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

_._:

J-lL'OIIII;IIII;III"I:IIII;IIII;IIII

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


